Bernd, here there is the numbers for the three systems.
The BLM are analog transmission, so there is no sense for an minimum power definition. For the other, I took the number in the GOH radiation test (http://cms-ecal-optical-links.web.cern.ch/cms-ecal-optical-links/gohirr/GOH_irrad_at_PSI_040227.xls) and the one given by Ben for BIC.
Residual power budget is calculated from the total minus 0.6 dB time 4 connectors and 0.4 dB/km time 3 Km of fiber ~ 4 dB (to be conservative).
For BPM we have only the residual power, the other is estimated.
Cheers
Gianluca
 
	System
	Power (uW)
	Average power
	Max
Sensitivity
	Total Power budget
	Residual Power budget (4connection+3 km of fiber)
	Wavelength
	Max dose rate Gy/s

	
	min
	Ave
	max
	dBm
	dBm
	dB
	dB
	nm
	 

	BLM  (digital) 
	25
	250
	500
	-6
	-35
	29
	25
	1310
	0.004 (average 0.001)
estimate for cabel tray on side position 70k(20k)

	BIC  (digital)
	2
	10
	40
	-20
	-36
	16
	12
	1310
	

	BPM (analog)
	
	
	
	
	
	
	
	
	


